Density

Density

Bp =2 line = MAGIC.433,Chr=1

0.004 0.006
| |

0.002
|

0.000
|

I I I I I I I
350 400 450 500 550 600 650

N =3 Bandwidth =30.19
breakpoint: 14191068 — 14191176 ct-1 oy-0

Bp =4 line = MAGIC.433,Chr=1

0.004
|

0.002
|

0.000
|

I I I I
300 400 500 600

N =4 Bandwidth = 39.32
breakpoint: 15081317 — 15081337 ct-1 rsch-4

Frequency

Frequency

line = MAGIC.433,Chr=1

1.0

00 02 04 06 038

[ I I I 1
400 450 500 550 600

breakpoint: 14191068 — 14191176 ct-1 oy-0

line = MAGIC.433,Chr=1

1.0

00 02 04 06 038

[ I I I I I
300 350 400 450 500 550

breakpoint: 15081317 — 15081337 ct-1 rsch-4



Density

Density

Bp =6 line = MAGIC.433,Chr=1

0.008
|

0.004

0.000
|

I I I I
300 350 400 450

N =2 Bandwidth =18.13
breakpoint: 15879826 — 15879828 oy—0 mt-0

Bp =7 line = MAGIC.433,Chr=1

0.004
|

0.002
|

I I I I I
300 400 500 600 700

0.000
|

N =2 Bandwidth =40.93
breakpoint: 16125533 — 16125580 mt-0 ct-1

Frequency

Frequency

line = MAGIC.433,Chr=1

1.0

00 02 04 06 038

[ I I I 1
360 380 400 420 440

breakpoint: 15879826 — 15879828 oy—0 mt-0

line = MAGIC.433,Chr=1

1.0

00 02 04 06 038

[ I I I I
400 450 500 550 600

breakpoint: 16125533 — 16125580 mt-0 ct-1



Density

Density

2e-07

0e+00

0.004 0.008

0.000

Bp = 10 line = MAGIC.433, Chr=2

I I I I I I
—2e+06 2e+06 6e+06

N =4 Bandwidth = 8.197e+05
breakpoint: 67061 — 67077 po—0 sf-2

Bp = 11 line = MAGIC.433, Chr=2

I I I I I
300 350 400 450 500

N =2 Bandwidth = 23.97

breakpoint: 1587624 — 1587632 sf-2 kn-0

Frequency

Frequency

1.0 2.0 3.0

0.0

1.0

00 02 04 06 038

line = MAGIC.433,Chr=2

Oe+00 2e+06 4e+06 6e+06 8e+06

breakpoint: 67061 — 67077 po—0 sf-2

line = MAGIC.433,Chr=2

[ I I I I
360 380 400 420 440

breakpoint: 1587624 — 1587632 sf-2 kn-0



Density

Density

0.0000 0.0004 0.0008 0.0012

1.5e-07 3.0e-07

0.0e+00

—2e+06

Bp =12 line = MAGIC.433, Chr=2

I I I I
-500 0 500 1000

N =2 Bandwidth =321.2
breakpoint: 2959873 - 2959880 kn-0 sf-2

Bp = 13 line = MAGIC.433, Chr=2

I I I I I I
0Oe+00 2e+06

N =4 Bandwidth = 6.331e+05
breakpoint: 3604544 - 3604584 sf-2 kn-0

Frequency

Frequency

1.0 15 20

0.5

0.0

1.0 15 20

0.5

0.0

line = MAGIC.433,Chr=2

[ I I I I 1
400 410 420 430 440 450

breakpoint: 2959873 - 2959880 kn-0 sf-2

line = MAGIC.433,Chr=2

[ I I
0 500000 1500000

breakpoint: 3604544 - 3604584 sf-2 kn-0



Density

Density

0.010 0.020

0.000

0.010 0.020

0.000

Bp = 15 line = MAGIC.433, Chr=2

I I I I I
360 380 400 420 440

N =2 Bandwidth = 9.355
breakpoint: 4139755 - 4139758 sf-2 kn-0

Bp = 20 line = MAGIC.433, Chr=2

I I I I I I I I
360 380 400 420

N =2 Bandwidth = 7.601

breakpoint: 12294462 — 12294463 kn-0 tsu-0

Frequency

Frequency

1.0

00 02 04 06 038

1.0

00 02 04 06 038

line = MAGIC.433,Chr=2

[ I I I 1
380 390 400 410 420

breakpoint: 4139755 - 4139758 sf-2 kn-0

line = MAGIC.433,Chr=2

[ I I I I
380 390 400 410 420

breakpoint: 12294462 — 12294463 kn-0 tsu-0



Density

Density

0.002 0.004 0.006

0.000

0.004 0.008 0.012

0.000

Bp = 24 line = MAGIC.433, Chr=3

I I I I I I
300 350 400 450 500 550 600

N =3 Bandwidth =30.19
breakpoint: 8077641 — 8077780 hi—-0 bur-0

Bp = 26 line = MAGIC.433, Chr=3

I I I I I
350 400 450 500 550

N =6 Bandwidth =18.54
breakpoint: 10463509 - 10463606 sf-2 oy-0

Frequency

Frequency

1.0 15 20

0.5

0.0

1.0 15 20

0.5

0.0

line = MAGIC.433, Chr=3

[ I I 1
350 400 450 500

breakpoint: 8077641 — 8077780 hi—-0 bur-0

line = MAGIC.433, Chr=3

[ I I I I I I
380 400 420 440 460 480 500

breakpoint: 10463509 — 10463606 sf-2 oy—0



Density

Density

1.0e-07

0.0e+00

1.0e-06

0.0e+00

Bp = 28 line = MAGIC.433, Chr=3 line = MAGIC.433, Chr =3

o
N
w0
—
>
Q
- g L
5 =
o
LL
] Lo
92 -
_ e _
T T T T e g T T T T T |
-5e+06 0e+00 5e+06 le+07 0e+00 2e+06 4e+06 6e+06
N =3 Bandwidth = 1.57e+06 breakpoint: 11112218 — 11112219 sf-2 oy-0
breakpoint: 11112218 — 11112219 sf-2 oy-0
Bp = 29 line = MAGIC.433, Chr=3 line = MAGIC.433, Chr =3
e _
—
] (o]
g
& o |
_ S ()
>
g < _
r o
1 o~
S
_ e _
T T T T T e T T T |
—-2e+05 2e+05 6e+05 0e+00 1le+05 2e+05 3e+05 4e+05
N =2 Bandwidth = 1.128e+05 breakpoint: 12882120 — 12882310 oy-0 can-0

breakpoint: 12882120 — 12882310 oy-0 can-0



Density

Density

Bp = 31 line = MAGIC.433, Chr=3

0.0000 0.0004 0.0008 0.0012

I I I I
-500 0 500 1000

N =2 Bandwidth = 300.9
breakpoint: 14328998 — 14328999 oy-0 sf-2

Bp = 33 line = MAGIC.433, Chr=4

2.0e-07
|

1.0e-07
I

I I I I I
—2e+06 2e+06 6e+06

0.0e+00
|

N =6 Bandwidth =1.087e+06
breakpoint: 1867838 — 1867839 wu-0 oy-0

Frequency

Frequency

line = MAGIC.433, Chr=3

2.0

1.0 1.5

0.5
|

[ I I I I 1
350 360 370 380 390 400

breakpoint: 14328998 — 14328999 oy-0 sf-2

line = MAGIC.433, Chr=4

[ I I I I
0e+00 1le+06 2e+06 3e+06 4e+06

breakpoint: 1867838 — 1867839 wu—-0 oy-0



Density

Density

0.004 0.008

0.000

1.5e-07 3.0e-07

0.0e+00

Bp = 34 line = MAGIC.433 , Chr=4

I I I I I I
Oe+00 2e+06 4e+06

N =7 Bandwidth = 33
breakpoint: 2579964 - 2579967 oy—0 wu-0

Bp = 35 line = MAGIC.433, Chr=4

I I I I I I I
—2e+06 Oe+00 2e+06 4e+06

N =2 Bandwidth = 6.605e+05
breakpoint: 2873146 - 2873157 wu-0 po-0

Frequency

Frequency

1.0

00 02 04 06 038

line = MAGIC.433, Chr=4

[ I I I I I |
Oe+00 2e+06 4e+06 6e+06

breakpoint: 2579964 — 2579967 oy—0 wu-0

line = MAGIC.433, Chr=4

[ I I I I I I
0 1000000 2000000 3000000

breakpoint: 2873146 — 2873157 wu-0 po-0



Density

Density

0.002 0.004 0.006

0.000

2e-06 4e-06

0e+00

Bp = 36 line = MAGIC.433 , Chr=4

I I I I I I
0 10000 30000 50000

N =69 Bandwidth =24.19
breakpoint: 4011919 - 4011971 po-0 oy-0

Bp = 38 line = MAGIC.433, Chr=4

I I I I I
—1e+05 le+05 3e+05

N =3 Bandwidth = 5.431e+04
breakpoint: 4320923 - 4320924 wu-0 sf-2

Frequency

Frequency

10 20 30 40 50 60

0

1.0 15 20

0.5

0.0

line = MAGIC.433, Chr=4

[ I I I I I 1
0 10000 30000 50000

breakpoint: 4011919 - 4011971 po-0 oy-0

line = MAGIC.433, Chr=4

[ I I I I I
0 50000 150000 250000

breakpoint: 4320923 - 4320924 wu-0 sf-2



Density

Density

0.00010 0.00020

0.00000

0.00010

0.00000

Bp = 39 line = MAGIC.433 , Chr=4

0 100000 200000 300000

N =17 Bandwidth = 1033
breakpoint: 4572626 — 4572634 sf-2 wu-0

Bp = 42 line = MAGIC.433, Chr = 4

I I I
0e+00 2e+06 4e+06

N =10 Bandwidth =977.2
breakpoint: 11039272 — 11039328 can-0 ler-0

Frequency

Frequency

line = MAGIC.433, Chr=4

15
|

[ ]
| T T T |

Oe+00 1le+05 2e+05 3e+05 4e+05

breakpoint: 4572626 — 4572634 sf-2 wu-0

line = MAGIC.433, Chr=4

o
[ I I I
Oe+00 2e+06 4e+06

breakpoint: 11039272 — 11039328 can-0 ler-0



Density

Density

0.002 0.004

0.000

0.004 0.008 0.012

0.000

Bp = 43 line = MAGIC.433, Chr=5

I I I I I I I
300 400 500 600

N =2 Bandwidth = 36.84
breakpoint: 697062 — 697274 zu-0 oy-0

Bp = 44 line = MAGIC.433, Chr=5

I I I
350 400 450

N =2 Bandwidth =15.79
breakpoint: 9069058 - 9069210 oy-0 hi-0

Frequency

Frequency

1.0

00 02 04 06 038

1.0

00 02 04 06 038

line = MAGIC.433, Chr=5

[ I I I 1
350 400 450 500 550

breakpoint: 697062 — 697274 zu-0 oy-0

line = MAGIC.433, Chr=5

[ I I I I
360 380 400 420 440

breakpoint: 9069058 - 9069210 oy-0 hi-0



Density

Density

0.0006 0.0012

0.0000

6.0e-07 1.2e-06

0.0e+00

Bp = 47 line = MAGIC.433, Chr=5 line = MAGIC.433,Chr=5

— o0 —
@ —]
1 >
[S]
— e
[<H)
=
o
T o
LL
- ~
—] O —
| | | | | | | | | | | | | |
0.0e+00 4.0e+06 8.0e+06 1.2e+07 0.0e+00  4.0e+06  8.0e+06 1.2e+07
N =10 Bandwidth = 195 breakpoint: 10817012 — 10817172 hi-0 sf-2
breakpoint: 10817012 — 10817172 hi-0 sf-2
Bp = 48 line = MAGIC.433, Chr=5 line = MAGIC.433,Chr=5
w p—
- o
>
— [S]
e
[<H)
| =
o
o
_ LL
N —
I I I I I I [ I I |
-500000 500000 1500000 0 500000 1500000
N =12 Bandwidth = 1.923e+05 breakpoint: 11124271 - 11124295 sf-2 hi-0

breakpoint: 11124271 — 11124295 sf-2 hi-0



Density

Density

0.004 0.008

0.000

0.0e+00 1.0e-05 2.0e-05

Bp =50 line = MAGIC.433, Chr=5

I I I I I
550 600 650 700 750

N =4 Bandwidth =21.89
breakpoint: 12025141 - 12025224 sf-2 hi-0

Bp =51 line = MAGIC.433, Chr=5

I I I I I I I
—20000 0 10000 30000

N =2 Bandwidth = 6964
breakpoint: 13119827 — 13119860 hi-0 sf-2

Frequency

Frequency

1.5 20

1.0

0.5

0.0

1.0

00 02 04 06 038

line = MAGIC.433, Chr=5

[ I I I 1
600 620 640 660 680

breakpoint: 12025141 - 12025224 sf-2 hi-0

line = MAGIC.433, Chr=5

[ I I I I I I
0 5000 15000 25000

breakpoint: 13119827 — 13119860 hi—0 sf-2



Density

Density

0.0000 0.0010 0.0020 0.0030

0.002 0.004  0.006

0.000

Bp =52 line = MAGIC.433, Chr=5 line = MAGIC.433,Chr=5

o _
| i
(o]
— O ]
_ & ©
& © |
>
7] g <
I o©
N
- o 7
_ o _|
| | | | | | e | | | | | | |
200 300 400 500 600 700 300 350 400 450 500 550 600
N =2 Bandwidth = 61.98 breakpoint: 14094613 — 14094622 sf-2 zu-0
breakpoint: 14094613 - 14094622 sf-2 zu-0
Bp =53 line = MAGIC.433, Chr=5 line = MAGIC.433,Chr=5
o _
] i
— (o]
g
. & o |
S ()
— >
g <
_ r ©
N
- o 7
_ o _|
T T T T T T e T T |
450 500 550 600 650 700 500 550 600 650
N =2 Bandwidth = 33.04 breakpoint: 14128993 — 14129162 zu-0 sf-2

breakpoint: 14128993 - 14129162 zu-0 sf-2



Density

Density

0.002 0.004

0.000

0.010 0.020

0.000

Bp = 56 line = MAGIC.433, Chr=5 line = MAGIC.433,Chr=5

e _
—
] [o0]
o
_ = o
& © |
1 S
g < _
_ I o
N
_ o
_ e _
T T T T T T T e g T T |
350 450 550 650 450 500 550 600
N =2 Bandwidth = 35.08 breakpoint: 15276698 — 15276912 sf-2 hi-0
breakpoint: 15276698 — 15276912 sf-2 hi-0
Bp =57 line = MAGIC.433, Chr=5 line = MAGIC.433,Chr=5
e _
—] —
[o0]
- O. |
3 o |
S o
—] >
g < _
I o
— N
N
_ e _
T T T T T e T T T T T |
380 400 420 440 460 400 410 420 430 440 450 460
N =2 Bandwidth =9.648 breakpoint: 15878071 — 15878106 hi—0 sf-2

breakpoint: 15878071 — 15878106 hi—-0 sf-2



Density

Density

Bp =59 line = MAGIC.433, Chr=5

0.000 0.004 0.008 0.012

I I I I I I I
420 440 460 480 500 520 540

N =2 Bandwidth =13.74
breakpoint: 17417240 — 17417326 hi-0 ler-0

Bp = 60 line = MAGIC.433, Chr=5

0.004
|

0.002
|

0.000
|

I I I I I
400 500 600 700 800

N =3 Bandwidth =47.18
breakpoint: 18265259 - 18265281 ler—0 hi-0

Frequency

Frequency

line = MAGIC.433, Chr=5

1.0

00 02 04 06 038

[ I I I I I 1
440 450 460 470 480 490 500

breakpoint: 17417240 — 17417326 hi-0 ler-0

line = MAGIC.433, Chr=5

1.5 20

1.0

0.5

[ I I I I
450 500 550 600 650

breakpoint: 18265259 — 18265281 ler—0 hi-0



